Chess game

Me vs Pretty Law

March, 2016

This game was played on chess.com with
time control set as 1 in 14 days. I won
by resignation. My estimated ELO was
1407, hers was 1580. She’s the highest rated
player I've played with (so far), thus I was
very careful and avoided experimentations.

1 e4 eb
2 O3 de
3 d4 Lg4

Black throws her bishop beyond the en-
emy line, suggesting the possibility of an
exchange with the white knight and in the
same time pinning it because of ... £xd1.

4 dxe5 £&xf3

I thought to 4...dxe5 5 Wxd8+ &xd8
6 4\c3, but as suspected she wanted to ex-
change her bishop with the knight first.

5 gxf3  dxeb
6 Wxd8+ Hxd8
7 AHe3

It just happened a little bit later... and
we are both late in developing the woods; I
have the queen-side knight out and pawns
in the same file, she can’t castle anymore.
Let’s see what happens next.

7 ces £b4
8 £d2 c6


https://www.chess.com/
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I accepted the exchange for obvious rea-
sons, even if I gave the d-file. Her pawns
have a better position and her e5-pawn is
now defended. Maybe with h3 T’'ve just
taken time.

19 h4 Qhb
20 S04 Dg7
21 Zhi h5

22 £h3 f6

23 Hg1l QDeb
24 £xe6 Hxeb
25 hxgbs fxgbh
26 2h2  &f6
27 b4

I've left the knight in ¢3 undefended, but
her bishop and knight are kept quite out of
the game, despite ... 2b6.

27 . £d6
28 De2  h4
29 Hga
Here I wanted just to avoid ...g4, so |

occupied that square with the rook: no prey

in sight!
29 DT

30

Bl
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Then I am clearly looking at the gb-
square.

30 .. Nbb
31 Lb2 Hd4
32 c3 Neb

But I've just seconded the moves of her
knight that now defends my target (gb).
Hh3  &cT
Lc2

33
34



She reopened the d-file; I didn’t want her
rook in d1-d3.

34
35

ce ab
£g17
I was looking forward for the moment

when I could do f3, which means I did also
f4 before.

35 axb4
36 axb4 b6
37 f4

And here it is: T am ready for f3, that
opens the diagonal.

37 exf4
38 3 Has
39 &b2

Again the king acts actively to avoid the
rook in squares al—-a3, even if the pawn in
b4 can be attacked.

39 cen b5
40 &d4a+ Hxd4
41 cxd4 Ea4

I want to keep the initiative.

This sacrifice seems to me a mistake.
This 42...%e6 43 Dxgb+ is not good,
nor 42. . . 9f5 43 Bxgb+ or 42. .. $gb 43
Hxgb+ and similar. She can’t avoid the
capture of the pawn in g5. At least she can
avoid the check, maybe with 42...%e7. I
can’t see the reason for this sacrifice.

43
44

dxe5+ ¥xeb
Hxgh+

Of course, at last gb was captured and
now f4-pawn and h4-pawn are without
hope.

&f6
Bal

44

45 &b3



To defend my b4-pawn I had to move the
king, thus allowing her rook to maneuver in
the first row. Anyway I have the mission to
kill two of her pawns now. ..

46 Zhi1

47

Hg4a
Exh4

Have T caused my knight to be pinned?
My rook can’t abandon the h-file. Unless. ..

.. Feb?
Nxf4

v
A
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She did another mistake. In fact 48
Nxf4 BExh4 49 Qg6+ and so I can cap-
ture the rook back and keep the knight as

advantage. With ... &5 things aren’t bet-

ter, maybe. .. As said, her pawns are with-
out hope!

48 . gf1

49 Dd3+ &d5

50 Zf4 gd1

51 &c3  Efl

52 Zf6

u miw

a b ¢ d e
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Black king can’t move! So she tries to do
something with her rook.

52 Hal

53 Nfa+ Heb
A fork with a king?

54 Bf7 Ba3+

55 &d2 Exf3?
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Another mistake, maybe a blunder. In
fact I can check again.

56 Nd3+ Hed

At this point, 56...Hxd3 57 &xd3
gives me advantage and she has to hope in
blunders to win. The move . . . ¥e4 seemed
the only hope to protect the rook. But she
hasn’t seen the following:

57 Deb+

a b ¢ d e f g h

No matter where she puts her king: the
rook is lost. Therefore she resigns.



